
LAPLACE TRANSFORM TABLE

f(t) = L−1{F (s)}(t) F (s) = L{f(t)}(s) =
∫ ∞

0
e−stf(t)dt
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tn , n an integer

eat

sin bt

cos bt

eatf(t)

eattn n an integer

eat sin bt

eat cos bt

t sin bt

t cos bt
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s
, s > 0

n!

sn+1
, s > 0

1

s− a
, s > a

b

s2 + b2
, s > 0

s

s2 + b2
, s > 0

F (s− a)

n!

(s− a)n+1
, s > a

b

(s− a)2 + b2
, s > a

(s− a)

(s− a)2 + b2
, s > a
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(s2 + b2)2
s > 0

s2 − b2

(s2 + b2)2
∗ , s > 0

uc(t)f(t), c ≥ 0 e−csL{f(t + c)}(s)
uc(t)f(t− c), c ≥ 0∗∗ e−csL{f(t)}(s)

y′ = ẏ =
dy

dt
sY (s)− y(0)

y′′ = ÿ =
d2y

dt2
s2Y (s)− sy(0)− ẏ(0)

* NB.
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=

1
2
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−

1
2
(s2 − b2)

(s2 + b2)2

** Definition: uc(t) =

{
0 t < c
1 t ≥ c

which is also written as u(t− c) or H(t− c)


